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Level A 
 

I Կարդալ տեքստը և պատասխանել հարցերին՝ ընտրելով ճիշտ տարբերակը: 
              Read the text and answer the questions choosing the right option. 

 

1. Today the most universally known style of trousers for both men and women is jeans; these  
2. trousers are worn throughout the world on a variety of occasions. Also called levis or denims, jeans have  
3. an interesting history. 
4. The word jeans is derived from the name of the place where a similar style of pants developed. In the         
5. sixteenth century, sailors from Genoa, Italy, wore a unique type of cotton trousers. In the French             
6. language, the word for the city of Genoa and for the people from that city is Genes; this name became     
7. attached to the specific style of pants worn by the sailors from this city and developed into the word jeans  
8. that today describes the descendents of the Genovese sailors’ cotton pants. 
9. Similar to the word jeans, the word denim  is also derived from a place name. In the seventeenth  
10. century, French tailors began making trousers out of a specialized type of cloth that was developed in  
11. the city of Nimes, France and was known as serge de Nimes. This name for the cloth underwent some  
12. transformations, and it eventually developed into today’s denim, the material from which jeans are made  
13. and an alternative name for these popular pants.  
14. The word levis came from the name of a person rather than a place. In the nineteenth century,  
15. immigrant Levi Strauss came to America and tried his hand at selling heavy canvas to miners taking part  
16. in the hunt for gold in northern California. Strauss intended for this canvas to be used by miners to make  
17. heavy-duty tents. This first endeavor was a failure, but Strauss later found success when he used the  
18. heavy canvas to make indestructible pants for the miners. Levi then switched the fabric from brown  
19. canvas to blue denim, creating a style of pants that long outlived him and today is referred to by his  
20. name.  

 
The word “unique” in line 5 is closest in meaning to 
 

a) universal 
b) ordinary 
c) unusual 
d) common 
 

All of the following are mentioned in the passage about Genoa EXCEPT that it  
 

a) was the source of the word jeans 
b) is in Italy 
c) has a different name in the French language 
d) is a landlocked city 
 

The  word denim was most probably derived from 
 

a) two French words 
b) two Italian words 
c) one French word and one Italian word 
d) four French words 
 

It can be inferred from the passage that, in order to develop the pants for which he became 
famous, Strauss did which of the following? 

 

a) he studied tailoring in Nimes 
b) he used an existing type of material 
c) he experimented with brown denim 
d) he tested the pants for destructibility 
 

Where in the passage does the author explain how Strauss’ first attempt at creating a 
business  with canvas turned out? 

 

a) lines 10-12 
b) lines 14-16 
c) lines 17-18 
d) lines 19-20 

1 

2 

3 

4 

5 
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II  Տեքստում բաց են թողնված նախադասություններ: 
     Լրացնել տեքստը՝ տեղադրելով համապատասխան նախադասությունը: 

Fit the missing sentences into the numbered gaps of the following text. 
 

Every morning, billionaire Milton Petrie walked from his New York apartment and bought a 
newspaper from the ragged old man on the street corner. 6 ____________. Petrie learned that 
he was very ill in the city hospital. Immediately he paid his hospital bill and later, when the 
man died, paid for his funeral. 
7________________________. Whenever he read about personal disasters in his newspaper 
Petrie sent generous cheques, especially to the families of policemen, of firemen injured at 
work. He also sent cheques to a mother who lost five children in a fire, and a beautiful model, 
whose face was cut in a knife attack. 
It cost him millions of dollars, 8__________________. He said that he was lucky in business 
and he wanted to help those less fortunate than himself. “The nice thing is, the harder I work, 
the more money I make, and the more people I can help”. 
Milton Petrie died in 1994 when he was 92. His will was 120 pages long because he left $150 
million to 383 people. His widow, Carroll, his fourth and last wife, said his generosity was a 
result of 9__________. His family was poor but kind-hearted. His father was a Russian 
immigrant, who became a policeman, 10_________ he was too kind. He couldn’t even give a 
parking ticket. 

 
 
 

a) One morning he found him in rich clothes 
b) One morning the man wasn’t there 
c) One day the man was found dead there 
d) The next morning the man was eager to see him 

 
 
 

a) Milton Petrie disliked helping people especially those in need 
b) The old man was the only person that Milton Petrie helped with his money 
c) The old man was just one of many people that Milton Petrie helped with his money 
d) There were many people whom Milton Petrie refused to help 

 
 
  

a) but he felt useless in helping the beautiful model 
b) and he gave up supporting others with money 
c) and he went bankrupt 
d) but he still had millions left 

 
 
  

a) the care-free life in his childhood 
b) the poverty of his early years 
c) having a family with a big fortune 
d) his poor relationship with his family 

 
  
 

a) and he arrested all the criminals 
b) and he did his best to send everyone to prison 
c) but he was never unhappy about it 
d) but he never arrested anyone     

 

6 

7 

8 

9 

10 
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III Ընտրել ճիշտ բայաձևը: 
Choose the right verb form. 

 

According to tradition, the first American Thanksgiving (11)____________in 1621 by the 
English Pilgrims who (12)_________ the Plymouth Colony. The Pilgrims marked the 
occasion by feasting with their Native American guests who (13)__________ gifts of food 
as a gesture of goodwill. 
       
 
 

a) celebrated 
b) was celebrating 
c) was celebrated 
d) had been celebrated 
 

 
 

a) were founding 
b) had founded 
c) would found 
d) found 
 

 
 

a) has brought 
b) have brought 
c) brought 
d) were bringing 

 
Technology (14)_______ a great deal since computers first (15)_______ to the public in the 
early 1980’s.  The first computers were simple machines designed for important tasks. 
Times have changed and computers have become powerful machines. Programmers created 
a large selection of useful programs which do everything from teaching foreign languages to 
book-keeping. We still (16)_______ video games, but today’s games are faster, more 
exciting. In short, the simple individual machines of the past (17)________ into an 
international World Wide Web of knowledge. 
 

 
 

a) would have changed 
b) has changed 
c) have been changed 
d) had changed 
 

 
 

a) were introduced 
b) introduced 
c) had been introduced 
d) were being introduced 
 

 
 

a) have played 
b) were played 
c) are being played 
d) are playing 

 

11 

12 

13 

14 

15 

16 
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a) have developed 
b) is developing 
c) would develop 
d) were developing 

 
Today, bicycles are so common that it’s hard to believe they haven’t always been around. 
But two hundred years ago bicycles didn’t even exist, and the first bicycle (18)_________ in 
Germany in 1818, was nothing like our bicycles today. It (19)________ of wood and didn’t 
even have pedals. Since then, however, numerous innovations and improvements in design 
(20)________the bicycle one of the most popular means of transportation around the world. 
 
  
 

a) invented 
b) was invented 
c) was inventing 
d) had invented 
 

 
 

a) was made 
b) is made 
c) is being made 
d) made 
 

 
 

a) makes 
b) have made 
c) had made 
d) has made 

 

17 

18 

19 

20 
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IV  Ընտրել նախադասության բովանդակությանը համապատասխանող տարբերակը: 
     Choose the appropriate option. 

 
“You look __________. You must have received good news!” 
“You are right. I’ve got a job in a bank”. 

 
a) happy 
b) unhappy 
c) more happier 
d) so happily 
 
“What is the relation between demand and price?” 
“According to the economic laws, the greater the demand  _____ the price.” 

 
a) higher 
b) the high 
c) the higher 
d) the highest 
 
“Do you like living alone?” 
“Yes, and now I ______ for myself.” 

 
a) used to cook 
b) used to cooking 
c) am used to cooking 
d) am used to cook 
 
“What about the war?” 
“________ was said about the war, and people thought it was planned secretly by some 

 authorities to confuse them.” 
 

a) a few 
b) few 
c) little 
d) some 
 
”Did you enjoy the play last night?” 
“Yes, I did. I just couldn’t help ________ every single scene of it.” 

 
a) to admire 
b) admiring 
c) but admiring 
d) admire 
 
“Is Bob fond of sciences?” 
“Yes. He finds mathematics______ than languages.” 

 
a) easy 
b) a lot easy 
c) more easy 
d) easier 

21 

22 

23 

24 

25 

26 
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“Who has taken part in the project?” 
“Everyone in the club______ .” 

 
a) is 
b) have 
c) has 
d) are 
 
“How far is it from your house to the airport?” 
“It’s about _________.” 

 
a) two hours’ drive 
b) two hour drive 
c) a two-hours drive 
d) two hour’s drive 
 
“What does she usually wear?” 
“She likes to wear a jacket and ______.” 

 

a) a jeans 
b) a pair of jeans 
c) pair of jeans 
d) a blue jeans 
 
“Would you please ______ George that the flight has been cancelled?” 
“No need, he has already been informed.” 

 
a) remember me to tell 
b) remind me to tell 
c) remember telling 
d) remind me telling 

 

27 

28 

29 

30 
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V Ընտրել համատեքստին համապատասխանող ձևը: 
    Fill in the blanks with the best choice. 
 

(31)______ world’s population is not only growing, it is also becoming more urbanized. An 
increasing number of people are moving to cities in the hope of having (32) ______ better 
life. The cities promise steady work and higher salaries. (33) ______ more money, people 
think they (34) ______ provide for their families more easily. 
We cannot get rid of megacities - they are here to stay. What we (35) ______ concentrate (36) 
______, however, is building “villages” inside the cities. 

 
 
 
a) The 
b) A 
c) These 
d) – 
 
 
 
a) a 
b) the  
c) – 
d) an 
 
 
 
a) With  
b) Except 
c) For 
d) Beside 
 
 
 
a) need 
b) could have 
c) can  
d) should 
 
 
 
a) should 
b) would  
c) should have 
d) might 
 
 
 
a) on  
b) about 
c) for 
d) in 
 

31 

32 

33 

34 

35 

36 
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VI  Ընտրել համատեքստին համապատասխանող խոսքիմասային ձևը: 
     Fill in the blanks with the word form that best fits each space.  
 

The first globes were built by ancient Greeks. The earliest known globe was said to have 
been (37)______ by the scholar Crates about 150 000 BC. An ancient celestial globe that 
still exists was made about 150 AD as part of a (38)____________, called the Farness Atlas, 
in the Naples Museum, Italy. The oldest existing terrestrial globe was built in Germany , in 
1482. This globe does not show the Americas. As new (39)________ were discovered in 
the16th and 17th centuries globes became more (40)_________. The world’s Largest globe is 
the Unisphere, which was built for the 1964 New York World’s Fair. This (41)___________ 
steel globe is 37 m across and weighs 408 000 kg, including its base. 
 
 
      
a) construct     
b) constructive   
c) constructing    
d) constructed     
 
     
 
 
a) sculptor 
b) sculpture 
c) sculpt 
d) sculptural 
 
 
 
a) land 
b) landless 
c) lands 
d) landing 
 
 
 
a) accuracy 
b) accurate 
c) inaccurately 
d) accurateness 
 
 
a)    stain 
b )   stained 
c)    staining 
d)    stainless 

 

37 

38 

39 

40 

41 
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VII  Նշել,  թե ուղղակի խոսքի փոխակերպման որ տարբերակն է ճիշտ: 
        Which of the options provided is the best choice for reported speech? 

 
Granny said to Rita: “ Don’t forget to take your umbrella. It is drizzling.” 
 
a) Granny asked Rita not to forget to take her umbrella and it was drizzling. 
b) Granny reminded Rita not to take an umbrella as it was drizzling. 
c) Granny reminded Rita not to forget her umbrella as it is drizzling. 
d) Granny reminded Rita to take her umbrella as it was drizzling. 
 
 “ When the doorbell rang, I was talking on the phone,” said Mary. 
 
a) Mary said she was talking on the phone when the doorbell rang. 
b) Mary says she had been talking on the phone when the doorbell had rung. 
c) Mary said she had been talking on the phone when the doorbell had rung. 
d) Mary said she was talking on the phone when the doorbell had rung. 
 
I asked Brian why he didn’t go back to Singapore. 
 
a) “Why did you go back to Singapore, Brian?” I said. 
b) “Why don’t you go back to Singapore, Brian?” I said. 
c) “Brian, go back to Singapore, please?” I said. 
d) “Brian, why do you go back to Singapore?” I said. 
 
Bob said: “Mike, did you see the match yesterday?”  
 
a) Bob asked Mike if he had seen the match yesterday.  
b) Bob asked Mike if he had seen the match the day before. 
c) Bob asked Mike had he seen the match the day before. 
d) Bob asked to Mike if he saw the match yesterday. 
 
 “How long has Rachel been learning English?” asked the examiner. 
 
a) The examiner said how long Rachel had been learning English. 
b) The examiner asked how long had Rachel been learning English. 
c) The examiner asked how long Rachel had been learning English. 
d) The examiner told how long Rachel had been learning English. 

 

42 

43 

44 

45 

46 
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VIII  Նշել, թե հետևյալ հարցերից որոնք են քերականորեն ճիշտ: 
Which of the following questions is grammatically correct?  
 
 Which is the best question for the following sentence? 
 Yes. It was rather difficult. 

 
a) Was the task difficult to do? 
b) Was the task easy or difficult to do? 
c) Was it easy to do the task? 
d) What kind of task was it? 
 
Which is the best question for the underlined part? 
We have known the Browns since they moved to our district. 

 
a) When have we known the Browns? 
b) How much have we known the Browns? 
c) Since when have we known the Browns? 
d) Why have we known the Browns? 
 
 Which of the following questions is correctly formulated? 

 
a) Have you any idea how did the accident happen? 
b) Do you have any idea how the accident happened? 
c) Do you have any idea how the accident was happened? 
d) Have you any idea how happened the accident? 
 
Which is the best ending for the following question? 
None of them could give the right answer,___________? 

 
a) couldn’t they? 
b) did they? 
c) could they? 
d) couldn’t he? 

 

47 

48 

49 

50 



 12

Level B 
 
IX  Կարդալ տեքստը և պատասխանել հարցերին՝ ընտրելով ճիշտ տարբերակը: 
       Read the text and answer the questions choosing the right option. 
 
1 The life span of an elephant that dies from natural causes is about sixty-five years. Of course, an 
2 elephant can perish from a number of “unnatural causes”; e.g., it can be killed by hunters, most  
3 probably for the valuable ivory in its tusks; it can die from diseases that spread throughout an elephant 
4 herd; or it can die from drought or from the lack of food that almost certainly accompanies the 
5 inadequate supply of water. 
6 If, however, an elephant survives these disasters, it falls prey to old age in its mid-sixties. Around this  
7 age, the cause of death is attributed to the loss of the final set of molars. When this last set of teeth is  
8 gone, the elephant dies from malnutrition because it is unable to obtain adequate nourishment. In old  
9 age, elephants tend to search out a final home where there is shade for comfort from the sun and soft  
10 vegetation for cushioning; the bones of many old elephants have been found in such places. 

 
The word “perish” in line 2 could be best replaced by 
 

a) fall in  
b) shoot 
c) die 
d) get rich 

 
The hunters kill the elephant most probably for 
 

a) its enormous size 
b) its huge weight 
c) valuable ivory in its tusks 
d) its big trunk 

 
The elephant dies from  
 

a) drowning 
b) lack of  food 
c) adequate supply of water 
d) overabundance of animals 

 
Which of the following could be used to replace the word “survives” in line 6? 
 

a) rises to 
b) takes up 
c) denies 
d) lives through 

51 

52 

53 

54 
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Around mid-sixties the elephant’s death is NOT caused by 
 

a) old-age characteristics 
b) variety of food 
c) loss of final set of teeth 
d) inadequate nourishment  

 
The word “malnutrition” in line 8 is used to describe someone who  
 

a) is in good health 
b) has an illness 
c) suffers from poor eating 
d) overexercises 

 
The expression “a final home” means 
 

a) a place to die 
b) a comfortable house 
c) a place for sale 
d) the only remaining place 

 
In old age elephants search out “a final home” in a place 
 

a) with a picturesque view  
b)  with poor vegetation 
c) with diminished light 
d) unprotected from the sun 

 
The passage most likely discusses 
 

a) the natural causes of the elephant’s death 
b) “unnatural causes ” of the elephant’s death 
c) the life of the elephant 
d) the elephant’s diseases 

 
 The most appropriate title for the passage is 
 

a) The final home for the elephant 
b) The elephant’s survival 
c) Causes of the elephant’s disease 
d) The life span of the elephant 

 

55 

56 
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X  Ընտրել նախադասության բովանդակությանը համապատասխանող տարբերակը: 
    Choose the right completion.  

 

Prospectors rushed to Nevada in 1859 _____ was discovered there. 
 

a) after gold soon 
b)  soon after gold 
c) gold soon after 
d) soon gold after 
 
Michelson, _____ carried out experiments on the speed of light, was the first American to 
receive a Nobel Prize in science. 

 

a) always 
b)  who 
c) that 
d) which 
 

_____ being the outer protective covering of the body, the skin performs many other 
necessary functions. 

 

a) Beside 
b) Besides 
c) Although 
d) Despite 
 

A metaphor, _____ compares two things that are different, but have something in common. 
 

a) often used in poetry 
b) has used in poetry 
c) is used in poetry 
d) has uses in poetry 
 

He came as soon as he could _____ to help me complete the work by midnight. 
 

a) so that 
b) provided that 
c) so as 
d) so 
 

She is a good specialist.  _____, I didn’t hesitate to ask her for help. 
 

a) So that 
b) Although 
c) Even though 
d) Therefore 
 

_____ it was late and our children had already  gone to bed, we didn’t feel tired and sleepy. 
 

a) Because 
b) Although 
c) In spite of 
d) As 
 

I like travelling by ship _____ the sea is not rough. 
 

a) as long as 
b) unless 
c) despite 
d) in case 

 

61 
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XI  Կարդալ տեքստը և ընտրել բովանդակությանը համապատասխանող բառը: 
     Read the text below and choose the word that best fits each space. 
 

A new VR (virtual reality) headset for the home user will be in the shops soon. The makers 
(69)________ that it will change the way that computer games are played. Unlike the heavy VR 
headsets that people have been using in the last few years, the new sets look more like a pair of 
sunglasses than a fireman’s (70)___________ . A spokesman for the company said: “A lot of 
people had (71)____________ with the old headsets. They were so heavy that if you wore them 
continuously for more than an hour or so, they could cause quite a lot of pain. Our new headsets are 
very comfortable and will be perfect for games, as well as in education.” 
Some scientists, however, are (72)___________ about the effects of VR. Child psychologist Brenda 
Smith explained: “There have already been several cases of violence among young children where 
computer games were to blame. With VR, we will soon have children who are not (73)_________ 
to playing with other people. (74)____________ your life in a constant battle with aliens and 
monsters is not really a suitable environment for someone young. We recommend that a child 
should experience actual reality, not virtual reality, and it would be a great mistake for parents to 
bring this sort of technology into the home. 

 
 
 

a) threaten 
b) claim 
c) recommend 
d) offer 
 

 
 

a) helmet 
b) hat 
c) hood 
d) cap 
 

 
 

a) errors 
b) mistake 
c) problems 
d) fault 
 

 
 

a) afraid 
b) threatened 
c) happy 
d) worried 
 

 
 

a) interested 
b) used 
c) allowed 
d) made 
 

 
 

a) Doing 
b) Making 
c) Passing 
d) Spending 

 

69 
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XII  Գտնել ավելորդ բառը: 
      Find the odd word. 

 
Among the five Great Lakes, only Lake Michigan is located entirely into within the 
territorial boundaries of the United States. 

 

a) is located 
b) into 
c) among 
d) within 
 
An octopus has had three hearts to pump blood throughout its body.  
 

a) its 
b) has 
c) throughout 
d) had 
 
Most the newspapers depend on the wires services for their international stories and 
photographs. 

 

a) the 
b) stories 
c) on  
d) for 
 
The system for helping slaves escape to the North was called the “Underground Railroad”, 
though it was neither underground or nor a railroad. 

 

a) nor 
b) for helping 
c) though 
d) or 
 
Because helicopters they are capable of hovering in midair, they are particularly useful for 
rescue missions and transportation. 

 

a) of hovering 
b) they 
c) particularly 
d) because 
 

While we were on holiday, we spent most of our time doing energetic things like as sailing, 
water skiing and swimming. 

 
a) while  
b) like 
c) energetic 
d) as 

 
 
 

75 

76 

77 

78 

79 

80 


